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LA e L ST my  BARS H4 w?[&%ﬁ& ey P

010 &it#Ft | B 2447 T H |120201 &2 36Q7**rwxekix] 732 XI5 89.93 1 P BRSO

010 &it2Ft | B 2447 T H |120201 &1t 3501 *HrkxRerx 28] X JE e 90.57 1 7 T 1 53

010 &it2Ft | B 2447 T H |120201 &1t 510G *r*xrark*3914 7 89.93 2 & fist 18 T 38

010 &it2Ft | B 2447 T H |120201 &1t 321 Q¥rrrkrinix (0532 20 89.60 3 & fist 18 T 38

010 &it4Ft | B 2447 T H |120201 &1t 5108 *r*rkrinix (0027 AR 89.37 4 & fist 18 T 38

010 & it%:Pt | Bkt 2= T H |120227 il 3706 *+*xrxxkx2 D A0) 2= 89.20 5 & fist 18 T 38

010 &it2Ft | B 2447 T H |120201 &1t 21 1Q¥xxrinix (0325 B 89.07 6 & fist 18 T 38

010 &xit%¢fe | BOL 27 H | 120226 W 55 & B 3203 r*rkrknrkxf D] 6 5k IE#K 88.73 7 & fist 18 T 38

010 &xit%¢fe | BOL 27 H | 120226 W 55 & B 321 3rkrxrinix (0216 EEMERN 88.50 8 & fist 18 T 38

010 &xit%¢fe | BOL 27 H | 120226 W 55 & B 620 ¥Hrxrkxrxk3(0]7 77 5 88.07 9 & fist 18 T 38

010 &xit%¢fe | BOL 27 H | 120226 W 55 & B 320Q¥*rkrkkkkx] 746 JeE ) 86.97 10 & fist 1 T 38

010 &xit%¢fe | BOL 27 H | 120226 W 55 & B 342G *rkrnrir68A(0) i 86.43 11 & fist 1 T 38

010 &it2Ft | B 2447 T H |120201 &1t 4105 **rRxkr*k 5004 Fr 85.47 12 & fist 1 T 38

010 &it2Ft | B 2447 T H |120201 &1t 411 4xrwrnnrx] 02X JE T 85.13 1 P RN

010 it 2Pt | Bustd 2= H [1202Z7 & 112 1201 **xxxxkxxk047 A 83.90 2 & RN

010 &it2Ft | B 2= 47T H |120201 &1t 1406*+**¥*rkxx 8526 X 80.77 3 P RN

010 &it2Ft | B 2= 47T H |120201 &1t 5001 **r#xark* 6429 BB 80.63 4 P RN

010 it 2P | Bk 240 H [120201 2 it-2# 1302 *rwkkikxk 429 YA 80.40 5 & RN

010 &it2Ft | B 2447 T H |120201 &2 37 15xwrxrer* (0424 LN 79.83 6 P RN

010 & it2:Pt | Bkt 2= T H |120227 i3 2301 ¥rxrinix (0828 FRIH 79.83 7 P RN

010 &it2#fe  |Muisi 240700 H (120201 £it-2# 230 ¥xrrrerer 0049 55 79.73 8 Fridgh | EAREMIEIL | ANAEIZHER N
010 &it2#fe | Mt 2440700 H (120201 £it-2# 5138rHrirrrni (0048 AE A e 79.47 9 Fradgh | EAREMIEIL | ANAEIZHER N
010 &it#Ft | B 2= 47T H |120201 &1t 513(*r*rkrinix 28D (| PN 78.50 10 Fridigh | FEARZAWIE | AUE R N
010 &it2Ft | B 2447 T H |120201 &1t 371 2xwrkxnrix 354X SR A 78.20 11 Fridigh | FEARZAWIE | AUE R N
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010 &it2afe | MOt 22400 T H 1305 **xxrkkax 7 DX X T 67.90 12 =
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o T L A5 we  memm  #s onod o BEE P
010 &it2Ft | Bl 2447 T H |120201 &1t 4305*rrrrrrxrx (0778 TR 90.40 1 P PR AL
010 &it#Ft | Bt 2447 T H |120201 &1t 1307 *r#xrarixx 0028 A H 90.00 2 P PR AL
010 &it2#fe | Mt 1244730 H (120201 £5it-2# 2303 ¥rrkrrrrr5 8o Y FKAF AR 89.93 3 2 eV =2 DRTIER
010 £xit2Pe | MUt A A0 H | 120226 W 458 5 1302%*xxxxkxxx00)34 X %1k 88.97 4 & RN
010 £xit2Pe | MUt A A0 H | 120226 W 458 5 1101 *¥xkxrexk3323 HH AR 88.97 5 & RN
010 £xit2Pe | MUt A A0 H | 120226 W 458 5 3702 %kkrrkxinx] 025 EIa e 88.67 6 & RN
010 it 2P | Bk 2401 H [120201 2 it-2# 3702%k*xkkxixx 3500 77 BE T 88.47 7 & RN
010 £ it2:BE  |BULMi 2400 H | 120226 4545 HL | 3202%+++kxxx3026 Bt 88.40 8 2 R A
010 £xit2 Pt | MUt A A0 H | 120226 458 5 4504 *xxxxkxxkx Q2 T2 88.37 9 & RN
010 £xit2 Pt | MUt A A0 H | 120226 458 5 3206+ *xxxrx (002X pARVS i 87.70 10 & RN
010 it 24P | Bk 24010 H [120201 2 it-2# 3708r+*rrkxinx362] AH 87.57 11 & RN
010 £xit2Pe | MUt A A0 H | 120226 I 458 5 511 G*+*rrkrrix 028 RE—1% 87.50 12 & RN
010 £xit 2Bt |BUEmi LA AT H [120226 M5B | 4306*r+rrerxxg32x ¥ 87.07 13 & RN
010 it 2P | Bk 2A A1 H [120201 2 it-2# 3601 ¥+*xrkrrex(0021 S0 86.47 14 & RN
010 it 2P | Bk 2A A1 H [120201 2 it-2# 32Q7xk*xkkxinx] 028 T & 86.20 15 & RN
010 £ it2:BE  |BULMi 2400 H | 120226 4545 HL | 4228*+rvrer0643 Tl 85.90 16 2 Sy N AT
010 2xit2:Be  |BULMi 2400 H | 120226 M 4545 HL | 3507*++rvxx(0236 W 2 b 85.90 17 2 Sy N AT
010 it 24P | Bk 2A A1 H [120201 2t 211 4pxxxrerinx (0626 [ogsH 85.67 18 & RN
010 £xit2Pe | MUt A A0 H | 120226 W 458 5 211 3rxkrikkink] 294 AR 85.57 19 & RN
010 it 24P | Bk 2A A1 H [120201 2t 3604 *+*xrxxrxx()086 I 85.47 20 & RN
010 £xit2:Be  |BULMi 2400 H | 120226 4545 HE | 5138kwrwrrnx] 849 TR 85.37 21 2 Sy N AT
010 £t 2EBe  |BULMi 24000 H | 120226 M55 HL | 2201 #+wrererxx(022X Aot 4 85.23 22 2 Sy N AT
010 2 it2:BE  |BULMi 2400 H | 120226 4545 HL | 1309%++krirx] 036 W et 85.20 23 2 Sy N AT
010 £xit2:BE  |BULMi 2400 H | 120226 M 4545 HL | 4105*+++ker5009 WK 85.07 24 2 Sy N AT

WGB3 T




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

o T L A5 we  memm  #s onod o BEE P
010 &it2Ft | Bl 2447 T H |120201 &1t 51Q7**rxrerixg8806 [RE= 85.07 25 P PR AL
010 &it#Ft | Bt 2447 T H |120201 &1t 3713Fwrkxniing5 ) XIS EH 84.80 26 P PR AL
010 £ it2EBe  |BULMi 24000 H | 120226 M55 HL | 2110%++rexerxx334X S ] Ik 84.77 27 2 EY =2 DRTIER
010 £ it2:BE  |BULMi 2400 H | 120226 4545 HL | 3507*+rerxl 246 3Lk 84.67 28 2 EY =2 DRTIER
010 £xit2Pe | MUt A A0 H | 120226 W 458 5 1304 **rwkrink] 839 HT 84.60 29 & RN
010 it 2P | Bk 2401 H [120201 2 it-2# 41 03*rrkxnrrx()023 7R 84.37 30 & RN
010 £xit2 Pt | MUt A A0 H | 120226 458 5 1407 Fhrkriirx] 8D() =T 84.27 31 Rripah | SRS h
010 &it2Ft | Bt 2447 T H |120201 &1t QAQT*rrxrxxrx3068 XA ] 84.23 32 (SR R = = DR
010 it 2P | Bk 2401 H [120201 2 it-2# 421 Q¥xrxxrexrc 5] ] 5 JE 2R 84.20 33 Rripah | SRS h
010 &it2ffe | Mt 1244730 H (120201 £it-2# 3505 *k*kkkkkx] 02X CRIYE 84.17 34 (SR R = = DR
010 & it2:Pt | Bstht- 2507 T H |120227 #iil2% 513Q*rHxriri* 3029 Tk 84.13 35 (SR R = = DR
010 it 24P | Bk 24010 H [120201 2 it-2# 5103 *+*rrkrrirg8600 A 84.07 36 Rripah | SRSt
010 it 24P | Bk 24010 H [120201 2 it-2# 5] Grkrkrinx 072X B il 84.07 37 Rripah | SRSt
010 &it2Ft | Bt 2447 T H |120201 &1t 2 3301 *#rHxreri* (0826 B R 83.97 38 (SR R = = DR
010 &it2Ft | Bl 2447 T H |120201 &2 3604 *r*ririnix(002] 2= M 83.97 39 (SR R = = DR
010 &it2Ft | Bt 2447 H | 120226 458 #H 1423#x*xrnxixx 2928 Vag: 83.97 40 Rridish | FARZEALML
010 2 it2:BE  |BULMi 2400 H | 120226 4545 HL | 5LO7*xxmvxx242] X e 83.90 41 (SR R = = DR
010 it Pt | B 250000 H | 120226 i 45 511 Gr+*rrkrrx7206 R 83.87 42 Rribah | SRS h
010 £t 2EBE  |BULMi 24000 H | 120226 M55 HL | 5LO7**+*kere*g42) % EARA 83.67 43 Rridgh | R EEALAR
010 &it2Ft | Bt 2447 T H |120201 &1t 2 3308**rwxririn3] 24 Ji 83.63 44 Rridgh | R EEALAR
010 &it2Ft | Bt 2447 T H |120201 &2 4103 rrxriner 751 JE B 12 83.37 45 Rridgh | R EEALAR
010 £t 2:Be  |BULMi 2400 H | 120226 4545 HL | 1401 %xkxrenx] 805 PR 83.23 46 FRridgh | R EEALAR
010 it 24P | B 2A A1 H [120201 2 it-2# 5002 +*xrkxkxx3286 FASIY 83.20 47 Rrihah | SRS h
010 &it4Ft | Bl 2447 T H |120201 &2 4101 xFxrwxerx 0041 T e 83.10 48 (SR R = = DR
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FH B BT B B BRI A5G i £ 2 g He4 B T Ay 23
010 &it2Ft | Bl 2447 T H |120201 &1t 4307 *rrxrxrxrx3046 O 83.07 49 (SR R = = DR
010 &it2#fe | Mt 1244730 H (120201 £5it-2# 1502*rkrxrkixk 2408 R 82.87 50 (SR R = = DR
010 & il24F¢ | BOEmi2A 4670 H |120201 45if2# 3702 *rkxkxidx G747 Wk 82.83 51 (SR R = = DR
010 &it#Ft | Bt 2447 T H |120201 &1t 41Q3¥rrxrereiQ887 Zati] 82.80 52 (SR R = = DR
010 & il24Be | BOEmi2A 670 H |120201 45if2 5138**rixrinix (0023 BLE D 82.73 53 (SR R = = DR
010 £xit2EBE  |BULMi 2400 H | 120226 4545 HL | 3401%+xrennxg5]15 21 &S 82.67 54 (SR R = = DR
010 &it#Ft | Bt 2447 T H |120201 &1t 6103 *Hrrrkernx3824 A 2% 82.53 55 (SR R = = DR
010 &it2Ft | Bt 2447 T H |120201 &1t 51Q*rkrkrinix] 923 KRG 82.50 56 (SR R = = DR
010 &it2ffe | Mt 1244730 H (120201 £it-2# 51 Q1 ¥Hrkkkinkx] 522 ¥ 5 1 82.40 57 (SR R = = DR
010 2xil2#Pt  |[Mishil 2447 0 H (120226 W& H | 3303*+rwrkrx482X I3 82.37 58 (SR R = = DR
010 & il24Be | BOEmi2A 670 H |120201 45if2 5101 *Hrxrerix] 413 X1 — gk 82.20 59 (SR R = = DR
010 & iF2:Be MOt 24 1T H | 120226 45 H | 3601%+r rinxl626 Y 82.17 60 (SR R = = DR
010 &it#Ft | Bt 2447 T H |120201 &2 511Q**rxrri* (0021 2 L3 82.17 61 (SR R = = DR
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 4301 xFxrwrix5 ] 60 ipas 82.07 62 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H B71Q*r*rkrirRx(0022 AR 82.03 63 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 3305 *rHxrrk* 3025 Fii W 70 81.90 64 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 35 *rkrkrinix] 87 Wy 81.90 65 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H BT72g¥rkrinini* 40D SEWE 81.80 66 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 5137 *kkrkrinix D60 oA 81.77 67 5
010 & il fe | Bt 2= A7 1 H 321 3rwrininin] 449 Kik 81.77 68 5
010 & il fe | Bt 2= A7 1 H 34 2¥rkrkrinix 792D ik H 81.67 69 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 3624 xxkxknidx 7724 W 81.47 70 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 3203 **rHxririrg 683 TR 81.43 71 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H YA iy /1 pig=F: 80.97 72 5
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010 & il%¢ Pt | Bt 2= A7 1 H 3624 *xwxrniix (0108 RSN 80.90 73 5
010 & il%¢fe | Bt 2= A7 1 H 230 2% *xxxkrixx (0824 IR 80.87 74 5
010 & il%¢fe | Bt 2= A7 1 H 37Q2*rkrkrinix] 56 EREE: 80.87 75 &
010 & il%¢fe | Bt 2= A7 1 H 411 hrrrrininic ABES X1 i B 80.83 76 5
010 & il%¢fe | Bt 2= A7 1 H 51QQ¥*rkxkeiix D62 TESE 80.80 77 5
010 & il%¢fe | Bt 2= A7 1 H 32(3*rHrkrixix3003 2tk 80.30 78 5
010 & il%¢fe | Bt 2= A7 1 H 4LQT7*rrxxRxRx 5D ] KEH 80.07 79 5
010 & il%¢fe | Bt 2= A7 1 H 5QQ3*r*rkrixi*5 626 T IR K 80.03 80 5
010 & il%¢fe | Bt 2= A7 1 H 3508**rwxririn] GAA HHTN G 80.00 81 5
010 & il fe | B+ 2= A7 1 H 342G *rHxrarix D064 AR 79.93 82 5
010 & il fe | B+ 2= A7 1 H 41 28*rxxrxxrx02Q IS c) 79.93 83 5
010 & il fe | B+ 2= A7 1 H 3207 FHrwrarin] GAG = 79.93 84 5
010 & il fe | B+ 2= A7 1 H 142 2%xwxkxkxk DD AX Tk 79.90 85 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 511Q**rwxririr 585 X1k 79.77 86 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 4303¥rrrrrrerx0)069 Ttttz 79.67 87 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 513Q*r*rkrirrx(002] Tl 79.63 88 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H B7Q7*r*rkrkxRx] 364 R 79.53 89 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 34Q1FHrwxReRx 42D LA 79.53 90 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 1424 xrxxkxixkG326 FEIEFN 79.50 91 5
010 & il fe | Bt 2= A7 1 H (N0 baioiote” i ) AL 79.43 92 &
010 & il fe | Bt 2= A7 1 H 141 1wmxrinix 0044 TBAE 1 79.37 93 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 5224 xrxrkxinix 7064 AN 79.33 94 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 3709**rHxreri* (0848 Rk 79.30 95 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 4104rrxrnrinixg (027 F LN 79.23 96 5
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010 & il%¢ Pt | Bt 2= A7 1 H 3709**rHxrxx*(0426 W 79.10 97 5
010 & il%¢fe | Bt 2= A7 1 H 3306*+*r*rR+4 26X KR 79.10 98 5
010 & il%¢fe | Bt 2= A7 1 H 513Q*rkririnis5403 RN 79.10 99 5
010 & il%¢fe | Bt 2= A7 1 H 3209*rHxriri*Q (25 XI| 3% 79.03 100 5
010 & il%¢fe | Bt 2= A7 1 H BOQ2***kekerkr 770X FER 78.87 101 5
010 & il%¢fe | Bt 2= A7 1 H 23Q7**rxrkxx (0028 5k 78.80 102 5
010 & il%¢fe | Bt 2= A7 1 H 37QL*rHrkrixix20D8 H T 78.53 103 5
010 & il%¢fe | Bt 2= A7 1 H 14Q7**rxrirxx 0068 AR 78.33 104 5
010 & il%¢fe | Bt 2= A7 1 H 3208*rrrrerer (008X PN 78.10 105 5
010 & il fe | B+ 2= A7 1 H 3202 *rHxkarkx D56 JE#e 78.03 106 5
010 & il fe | B+ 2= A7 1 H 130Q*r*xrerink422 FE4 78.03 107 5
010 & il fe | B+ 2= A7 1 H G20 FHrxxkxR*k D62 AR 77.97 108 5
010 & il fe | B+ 2= A7 1 H 4104xxrxrxrnik Q507 4 77.93 109 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 1201 *¥rkrkrixk 3505 75 [ 3 77.20 110 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 5002**+*xkxxkx2 406 HAR 76.63 111 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 52Q 1 *r*rkrinix] 308 S 76.57 112 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 51Q1*rHrkrixis 5304 =] 76.57 113 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 410Q***rixxR*542(0) 15 Fu] 76.40 114 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 3706 *+*xrxrkx (0045 BrHE 76.27 115 5
010 & il fe | Bt 2= A7 1 H BT L wrwrininrs5443 Pk 75.43 116 5
010 & il fe | Bt 2= A7 1 H 1401 rHrkrinink2 80 TR 74.43 117 &
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 5106 *r*xrark* (0229 IRAENE 73.33 118 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 5111 *wrkerinix (727 kS 70.93 119 5
010 it Bt | Bt 2= T H | 125300 21t 5101 **rxreri* (0768 it 89.57 1 & b A A
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o T L A5 we  memm  #s onod o BEE P
010 it Bt | Bt 2= 47 T H | 125300 21t 21 Q2% ¥x¥xkxixx()265 THEE 89.50 2 & LR DR n
010 it Bt | Bt 2= 47 T H | 125300 21t 3201 *rHririnix32] 5 EES 89.37 3 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 510 *Hrwxirin] 434 4R AR 89.13 4 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 5101 **rwxrerin] D68 XLt 89.07 5 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 510 *Hrkxrerin] 823 4525 5 88.40 6 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 2102 *xxxkxixx] 020 TERR 88.37 7 & Ll A A A
010 &it2Ft | Bt 2= T H | 125300 <1t 6205+ *kxrxkxx(0020 PN TR 88.00 8 & Ll A A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 140 Hrxririnx 0B 45 BEFEAR 88.00 9 & Ll A A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 1306*+*xwrinr] 258 7R 87.97 10 & Ll A A
010 &it2Ft | Bt 2= 47 T H | 125300 1t 371 4xrwrininis541 3 P 87.93 11 & Ll A A
010 &1t Bt | Bt 2= 47 5 H | 025700 # it 130 ¥xrrinx0Q4 X ST 87.73 12 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 321 Q*rwxririn] 120 R YINT 3 87.63 13 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 3305 *rHxkerix3(] 2 B—%| 87.47 14 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 6204 **xxxrxrxx(0020 5K Bt A 87.27 15 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 1201 ¥¥rkririxk7029 R I s 87.20 16 b3 Ll A A
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t BQQ 1 *r*rkrinixgQD7 WA JE 87.13 17 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 2303¥r¥xrkxink 3206 TR 87.10 18 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 511 5*rkrkrinix] 707 REEFE 86.63 19 b3 Ll A A
010 it Bt | Bt 2= 47 5 H | 025700 # it B2 *rrxrinkk 3044 T S 3 86.63 20 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 1201 **r*rkrxk 4016 2= 86.43 21 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 5101 **rxreri* Q93] PR 86.37 22 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 5222 *kkrkrinix] 62() 5 3 S 86.33 23 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 1427 *xwxkwrkxk ] 23 L 86.27 24 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 43Q7rrrwrknik 4863 ) 86.20 25 & Ll A A
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o T L A5 we  memm  #s onod o BEE P
010 it Bt | Bt 2= 47 T H | 125300 21t 513Q*rwxerix (0047 FI5HE 86.13 26 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 35Q3*rkrkrinix] 424 R T A 86.13 27 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 3301 *Hrrxrrix (0024 R 86.03 28 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 650 **rrxrx0029 R 85.93 29 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 3704wrkxriring] 2] X 85.93 30 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 21 Q1 *xxrionink 4628 VTR 85.90 31 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 50Q2**rHxkirkxl ] A8 HH /N 85.80 32 & Ll A A
010 it Bt | Bt 2= 47 T H | 025700 # it 5101 **rkxrar* 2626 R 85.77 33 & Ll A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 5138**rixiniix ()22 X = 85.60 34 & Ll A A
010 &it2Ft | Bt 2= 47 T H | 125300 1t 3425 xrkxrniix (0270 XI| R e 85.53 35 & Ll A A
010 &1t Bt | Bt 2= 47 5 H | 025700 # it 5101 **rwxrerix 004X AT 85.53 36 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 2304xxrkrkniix 3307 L 85.50 37 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 37 15x*rkxRerx (092X 5K =X 85.50 38 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 1101 rHrkrkxrxx0922 I 85.37 39 & Ll A A
010 it Bt | B iit- 2= 5 H | 025700 # it 42] 1rxrarioni 0022 EEpYi 85.37 40 & Ll A A
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t 3622*kxrkrinix (0049 TN i 85.30 41 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 1304r*rxririxx0020 SRR 85.27 42 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 5325*krkxikix 0060 & 85.20 43 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 350 *Hrkrririx] 528 SRR 85.20 44 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 3426*rHrkrixix0] 16 L7k 85.13 45 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t G522 ¥ xkrkkknr] 621 kiR 85.07 46 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 33Q2*r*rkriri*3686 VR 84.97 47 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 51 Q1 *r*rkrinix] 788 Pl i 84.93 48 b3 Ll A A
010 it Bt | Bt 2= T H | 125300 21t 333 *rwrkrinix] 713 R 84.90 49 & Ll A A
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o T L A5 we  memm  #s onod o BEE P
010 it Bt | Bt 2= 47 T H | 125300 21t 5227 *hrkxkikin] 5 AN 84.83 50 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 1426x+Hxrarixx 7723 2 Jjje 84.83 51 & Ll A A
010 it Bt | Biit- 2= 47 5 H | 025700 # it 5115**rkxririx 4065 Wit 84.80 52 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 44QT*rrrrrrxrx5A48 PRI 84.80 53 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 2101 *xrerinkex0Q] ] JE 52 84.67 54 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 1102%*rkxkxxx(022 SRR 84.67 55 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 3408 *r*rrrinix04]] 5k 84.63 56 & Ll A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 3204 xrxrkrinix 7408 ELERIE 84.57 57 & Ll A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 3205 *rHxrerkx (0260 Wi3E 84.57 58 & Ll A A
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 33(3*r*rkriri()729 S 84.47 59 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 511 5*rkrkrinis8465 RIFUT 84.43 60 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 3504 *rxrkrinix (0027 TR 84.43 61 & Ll A A
010 &1t Bt | Bt 2= 47 5 H | 025700 # it 500 **rxririx 560K 2= B 84.37 62 b3 Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 33Q3*rwrkrinix] 442 AR 4 84.30 63 & Ll A A
010 it Bt | B iit- 2= 5 H | 025700 # it 421 Qrrxrakionkk 8720 W = 84.30 64 & Ll A A
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t 4104xxrxrxrxrx552Q FRH 84.27 65 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 3705 *+wxrxrx2 (017 BRIt 84.27 66 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 22(5¥*¥xrkxknk 3668 /% 84.23 67 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t BEQ7*r*rHrRxR*4626 5K 4 84.17 68 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 511 Q*r*rkrrr0080 AL 84.10 69 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 510 **rkxeiin] DG By e 84.10 70 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 41 28r¥xrixinik AAQ TR 84.03 71 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 3607 *rHxrrk* D36 AR5 B 84.03 72 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 1305*r#xrarkxx 4080 FHETS 84.03 73 & Ll A A

310 A7




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

o T L A5 we  memm  #s onod o BEE P
010 it Bt | Bt 2= 47 T H | 125300 21t 3604*rwxririn] 024 T 84.00 74 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 511 3xwrkxrrix 002X R 2 83.90 75 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 2101 *xkxrinknx3119 HE G2 83.87 76 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 41Q3¥rrxrxrerx0020 JE 5 R 83.83 77 b3 Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 3301 *rHrkrinix] 626 ik Bk 83.67 78 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 1306*+**r*xxx(0328 556 I A1) 83.67 79 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 5329¥*kixiirix 376X 15 83.67 80 & Ll A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 331 Q*rHrkrirr*0633 TR 83.67 81 & Ll A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 500 **rwxririx 6584 (REET) 83.43 82 & Ll A A
010 &it2Ft | Bt 2= 47 T H | 125300 1t 3708 *rwxririn] 783 F 08k 83.33 83 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 5QQ2*+*rkrixix 7407 JRHT A 83.33 84 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 321 2%rwrkrinix()] 87 5K B AR 83.33 85 & Ll A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 321 3¥rwririnrx (020 [REERAN 83.30 86 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 1401 rHrkrinink5] 2 H 83.23 87 b3 Ll A A
010 &it2Ft | Bt 2= T H | 125300 21t 1404 #rwxrnrionk] 627 1 83.17 88 & Ll A A
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t 152 wwxinionk ] 820 XI| 3% 83.13 89 & Ll A A
010 it Bt | Bt 2= 47 5 H | 025700 # it 230Q¥rrarinkx (0327 T34 83.10 90 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 513Q*rkririnis35] 3 J 3R fif 82.97 91 b3 Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 34Q8*rwxririr539() PNl 82.93 92 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 4325 xxxrkxinik()024 I KR 82.90 93 & Ll A A
010 & it2:Ft | Bt 2= 47 T H | 125300 21t KT b Y 5K 5 82.90 94 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 3708 *r*rkrinix4 D65 vk ER 82.90 95 & Ll A A
010 it Bt | B ii 1247 5 H | 025700 # it 4103 rrxrrxkerx (0549 R inE 82.90 96 & Ll A A
010 it Bt | Bt 2= T H | 125300 21t 3B *rHrkrxRx4 30 R ZE 82.87 97 & Ll A A

11 AT




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

o T L A5 we  memm  #s onod o BEE P
010 it Bt | Bt 2= 47 T H | 125300 21t 1303*rwxririnx 024 (EPY 82.80 98 & Ll A A
010 it Bt | Bt 2= 47 T H | 125300 21t 5101 *r*rkrixis5208 A 82.67 99 & Ll A A
010 &it2Ft | Bt 2= T H | 125300 <1t 42 THriwininin] 94X i 2 82.60 100 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 3302*rkxarkx D40 5 A% 82.53 101 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 321 Q*rwxeRx (0922 7 2 82.53 102 & LR DR n
010 &it2Ft | Bt 2= T H | 125300 <1t 33 *r*rkrinir55] 4 &k 82.50 103 b3 Ll A A A
010 &it2Ft | Bt 2= T H | 125300 <1t 511 G*r*rkrirrx 0045 BRI 82.50 104 & Ll A A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 5111 *rkrkrini 0663 &S| 82.43 105 & Ll A A A
010 &it2:Ft | Bt 2= T H | 125300 <1t 371 5¥rwrkrinrx(0020 wE 82.40 106 & Ll A A A
010 &it2Ft | Bt 2= 47 T H | 125300 1t 21 Q] ¥¥xerernx492Q FHEER 82.30 107 & Ll A A A
010 &1t Bt | Bt 2= 47 5 H | 025700 # it 21Q7*xxrixk 0621 HKAE T 82.20 108 & Ll A A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 5QQL*r*rkrirrx002] Y& T 82.20 109 & Ll A A A
010 it Bt | Biit- 2= 47 T H | 125300 <1t 41 28r¥xrininik JA6] WK H 82.17 110 & Ll A A A
010 &it2Ft | Bt 2= T H | 125300 21t 23 I rrrrnink 4G4 T 82.13 111 & R DR n
010 &it2Ft | Bt 2= T H | 125300 21t 21 Q2% *xxxkxkxx (0027 Y ENEN 82.10 112 & R DR n
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t 4102%xrwxixik 354 A0 82.10 113 & R DR n
010 it Bt | Bt 2= 47 T H | 125300 21t 342Q¥*rkxiniix AT D7 iR 82.07 114 & R DR n
010 it Bt | Bt 2= 47 T H | 125300 21t 14Q3rHrkrinink] 625 24— 82.03 115 & R DR n
010 it Bt | Bt 2= 47 T H | 125300 21t 330G*r*rHrxR*T7768 REHE 82.03 116 & R DR n
010 & it2:Ft | Bt 2= 47 T H | 125300 21t 4301 xxrkrni] 026 G 82.00 117 & R DR n
010 & il24Fe | BOEmi-t 244673 H | 125300 45it 2104xxkriniix (D T 81.97 118 Fridish | B EEAL L
010 & il24Fe | BOEmi-t- 244673 H | 125300 45it 44021 *xrxkirix (032X R -¥- 4 81.90 119 Fridish | B EEAL L
010 & il24Fe | BOEmi-t- 244673 H | 125300 45it 51Q1**rwxres* 4424 F i 81.87 120 Fridish | B EEAL L
010 & il24Fe | BOEmi-t 244673 H | 125300 451t 350 **rrxrerix 0080 it 81.83 121 Fridish | B EEAL L

W12 1T




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

o T L A5 we  memm  #s onod o BEE P
010 & il24Fe | BOERmi-t 2446730 H | 125300 451t 3504*rxxrxrix 0046 o 5 81.80 122 Fridish | T EEAL L
010 it Bt | Bt 2= 47 T H | 125300 21t BAQIFHHHHHxFHX() ()22 XIS N 81.77 123 Fridish | T EEAL L
010 &it2Ft | Bt 2= T H | 125300 <1t 1304#rHxkirinx732() et 81.73 124 Fridish | T EEAL L
010 & il24Fe | BOEmi- 244670 H | 125300 431t 3625 *rwxikin] 703 R 81.73 125 Fridish | T EEAL L
010 &it2Ft | Bt 2= T H | 125300 <1t 3B *r*rkrxRx] 026 o 81.70 126 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 41Q7FHxRxRRr* 052X i R A 81.70 127 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 3601 *HrHxririx] 524 HOHTRk 81.67 128 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 21 Q2% ¥xwxkkk*k AT T 4 MR 81.67 129 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 3706 *+**xxx%0026 A= Fi 81.67 130 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 4401 rrxrrxrk 4026 TRER 81.63 131 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 3706 *+*xkxxkx D24 Ak 81.60 132 Fradish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 3508**rHxrirkx 08 R 81.53 133 Fridish | B EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 1427 *xwxkwrknk] DAQ F i 81.53 134 Fridish | B EEAL L
010 & il24Fe | BOERmi-t 244673 H | 125300 451t 530Q¥*rixkirkx 2620 Ji S 81.53 135 Fridish | B EEAL L
010 & il24Fe | BOERmi-t 244673 H | 125300 451t 3723 rwrkxririx 4006 BT 81.50 136 Fridish | B EEAL L
010 & it2Ft | B ii 1 2= 47 T H | 125300 <1t 37Q2*rkrkrixix30923 T 81.47 137 Fridish | B EEAL L
010 & il24Fe | BOEmi-t 244673 H | 125300 43it 1424%xwxkxxkxk ] 420 A 81.47 138 Fridish | B EEAL L
010 & il24Fe | BOEmi-t 244673 H | 125300 43it 5139¥wrixiirin] 14X ok 1 81.43 139 Fridish | B EEAL L
010 it Bt | Bt 2= 47 5 H | 025700 # it 5001 **r#xrer* (0029 B L 81.40 140 Fridish | B EEAL L
010 & il24Fe | BOEmi-t 244673 H | 125300 45it 3503 **rHxririx (331 95 81.30 141 Fridish | B EEAL L
010 & il24Fe | BOEmi-t 244673 H | 125300 45it 421 Qrxrixerk(025 FH R 3 81.23 142 Fridish | B EEAL L
010 & il24Fe | BOEmi-t- 244673 H | 125300 45it 5QQ2**+*xkxikx 5667 ZEE 81.20 143 Fridish | B EEAL L
010 it Bt | Bt 2= T H | 125300 21t 3206*r*rHrixix5223 B 81.20 144 Fridish | B EEAL L
010 it Bt | Bt 2= T H | 125300 21t 3713 Fwrkrinin] 89 IR 81.17 145 Fridish | B EEAL L

W13 M7




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

B A5 gL TS we  memm  #s onod o BEE A
010 & il24Fe | BOERmi-t 2446730 H | 125300 451t 1309*rHrrirink 6043 sk/Ngs 81.17 146 Fridish | T EEAL L
010 & il24Fe | BOEmi- 244670 H | 125300 431t 5101 **rkxerixg ] D7 R 81.17 147 Fridish | T EEAL L
010 & il24Fe | BOEmi- 244670 H | 125300 431t 1404 xrwxrxrkxk A D7 FHE 81.13 148 Fridish | T EEAL L
010 &it2Ft | Bt 2= T H | 125300 <1t 5106 *+*xrerx (023X 77 81.10 149 Fridish | T EEAL L
010 &it2Ft | Bt 2= T H | 125300 <1t 3501 *r*rkrinix] 606 YN 81.10 150 Fridish | T EEAL L
010 &it2Ft | Bt 2= T H | 125300 <1t 211 2¥xxrionink282() F Hi 81.07 151 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 4309r**rixknik 419 R 81.07 152 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 342G *rHxrnrix 6848 JARE & 81.07 153 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 5002**+#xarix (0024 wA 81.03 154 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 3204x*rwxxiix (0717 R 81.03 155 Fridish | T EEAL L
010 & il24Fe | BOERmi-t 244670 H | 125300 45it 320 2*rHrkrinix (027 ] R 81.00 156 Fradish | T EEAL L
010 & il fe | B+ 2= A7 1 H 50Q2**rHxkirix 4858 XI| R 80.97 157 5
010 & il fe | B+ 2= A7 1 H 3302 kxkrrerer (004X RAER 80.97 158 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 33Q2*r*rkrinix (0020 KR 80.93 159 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 4127 rwxxknrkx I5IN {9 5E 80.90 160 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 513Q¥krixiiix 6723 AL 80.80 161 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 511 5¥x*rkxririn] 780 GISETE 80.77 162 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 41Q7rFxRRrRxR*D G2 = FK 80.77 163 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 350 *Hrkxririn] GGG LT 80.77 164 5
010 & il fe | Bt 2= A7 1 H 1305+*r*rkrxk(041 RO AE 80.73 165 5
010 & il fe | Bt 2= A7 1 H 21QQ¥r¥*rinink (0525 FE 80.70 166 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 4304xxxxrxrxrx()386 JE SR 80.70 167 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 6104 **xxxrxrxx(052(0 =% 80.70 168 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 411 3¥rrxrrrnrx 0065 Aol 80.70 169 5

G114 AT




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

RERE W

FH B BT B B BRI A5G i £ 2 g He4 B T Ay 23
010 & il%¢ Pt | Bt 2= A7 1 H 3206*r*r*rxkxQ ()24 K2 % 80.67 170 5
010 & il%¢fe | Bt 2= A7 1 H 211 Q¥xxxrinix (0824 ENLE 80.57 171 5
010 & il%¢fe | Bt 2= A7 1 H 3422 kkkxininx] 627 Fi A 80.57 172 5
010 & il%¢fe | Bt 2= A7 1 H 21 Q1 *x¥erinknk 3305 72 1 80.53 173 5
010 & il%¢fe | Bt 2= A7 1 H 421 Qrrxxinix 762X e 80.47 174 5
010 & il%¢fe | Bt 2= A7 1 H 4205*rxrrxxrx (0024 BRI 80.43 175 5
010 & il%¢fe | Bt 2= A7 1 H 41Q5¥*xrxrxr*Q3T 7 Wb 80.43 176 5
010 & il%¢fe | Bt 2= A7 1 H 3505 *rHxHRAGEAD B 80.40 177 5
010 & il%¢fe | Bt 2= A7 1 H 3411 FHrkxnrix 5407 THEE 80.37 178 5
010 & il fe | B+ 2= A7 1 H 21 Q1 *xerinink 5620 XIhE 80.37 179 5
010 & il fe | B+ 2= A7 1 H 41Q5¥*xRxReRGEDD A= 80.33 180 5
010 & il fe | B+ 2= A7 1 H 370Q*rwxrirk* 3340 Wt 7 80.33 181 5
010 & il fe | B+ 2= A7 1 H 510G  *k*kxrxx 44X i FH 80.30 182 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 4208r*xrxxxix()024 2 A& 80.30 183 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 411 1xmrrinei6603 F1a 80.30 184 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 211 Qx*rwxarix 539X W 3 80.23 185 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 4206***+*xkxx*x0026 TR 80.17 186 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 3424 xrxrkninin] 625 B B4 80.10 187 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 3201 ¥rxrkrinix (0022 F I 80.07 188 5
010 & il fe | Bt 2= A7 1 H 231 Q¥xrxrixx (0320 SE 80.07 189 5
010 & il fe | Bt 2= A7 1 H 339Q*r*rkririx (0620 REER 79.97 190 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 1304r*rxrkrixk 0486 R JE 79.97 191 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 4307xFxrrxkrx(0026 2 79.97 192 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 4301 xFrrwrier 5869 B 79.93 193 5

w315 A7




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

RERE W

FH B BT B B BRI A5G i £ 2 g He4 B T Ay 23
010 & il%¢ Pt | Bt 2= A7 1 H 3624 xrwxiiix (0821 ] 79.90 194 &
010 & il%¢fe | Bt 2= A7 1 H 513 *Hrkxniix (0022 AR 79.87 195 5
010 & il%¢fe | Bt 2= A7 1 H 5QQ2*+*rkrixix 0041 ISR 79.70 196 5
010 & il%¢fe | Bt 2= A7 1 H 613 HHrrrkxR*x 562 HET 79.70 197 5
010 & il%¢fe | Bt 2= A7 1 H 430G*rHrrxRxR*Q36X PR 79.70 198 5
010 & il%¢fe | Bt 2= A7 1 H 500 **rHxrarir5389 R 79.67 199 5
010 & il%¢fe | Bt 2= A7 1 H 1426*x*xrwxkxx002X Al EE 79.63 200 5
010 & il%¢fe | Bt 2= A7 1 H 1526*+*xrxxkxx3020 Ly 79.57 201 &
010 & il%¢fe | Bt 2= A7 1 H 41 04xrwxixixrx5EEX W1~ 3 79.53 202 5
010 & il fe | B+ 2= A7 1 H 41 Q4xxrxrxknix DD 5 5 79.50 203 5
010 & il fe | B+ 2= A7 1 H BT L4xrwrininix 4626 KHHE 79.47 204 &
010 & il fe | B+ 2= A7 1 H 513Q¥*rwxieiin] 862 e 79.43 205 5
010 & il fe | B+ 2= A7 1 H 3306 *rHxrRR*4DA8 Al 79.43 206 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 130 ¥rxrinink 463 XI| 25 79.43 207 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 1301 FHrkrirink] 529 FERY A 79.40 208 5
010 & il%¢fe | BrsLfl -+ 2= A7 1 H 21Q2**¥xrkxkxk 2206 W52 79.37 209 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 42 1rxrnrioningD ] D & e 79.33 210 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 410G***xrxrxrx4 028 FEBEMT 79.13 211 5
010 & il%¢fe | BrsLhl -+ 2= A7 1 H 4307*Fxrxkerx(0030 GISES 79.13 212 5
010 & il fe | Bt 2= A7 1 H 3202 *kkxkakkx 7 DT H XI|Z54% 78.97 213 5
010 & il fe | Bt 2= A7 1 H 37 LLFwrxRRR* 44D 4 AN 78.90 214 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 3203 Fwrkxririx7 (2] fify {5 78.83 215 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 1306*+**r*xxx0023 FFH 78.53 216 5
010 & il%¢fe | BrsLhil -+ 2= A7 1 H 3601 *HrHxraR*48D ] LA 78.07 217 5

w316 A7




PRI Gk 320204 20 S HERF R R ERR TS B DB G ESBLERAT

RERE W

FH B BT B B BRI A5G i £ 2 g He4 B T Ay 23
010 & il%¢ Pt | Bt 2= A7 1 H 41Q5*rrxrxnrx] 0] IS TRES 77.87 218 5
010 & il%¢fe | Bt 2= A7 1 H 142@+*rkxkxkxx3307 g G 77.43 219 5
010 & il%¢fe | Bt 2= A7 1 H 3601 *rHxRR* D466 [ EL 76.80 220 5
010 & il%¢fe | Bt 2= A7 1 H 1301 ¥rixrinink641Q FAEM 76.50 221 5
010 & il%¢fe | Bt 2= A7 1 H 41 28r¥xrininikD 468 XI| 5 76.40 222 5
010 & il%¢fe | Bt 2= A7 1 H 3307**rxrerix 0063 BR 76.23 223 5
010 & il%¢fe | Bt 2= A7 1 H 21Q2*x¥xrkxink 4320 A 75.57 224 &
010 & il%¢fe | Bt 2= A7 1 H 239(¥r¥xrinink 523 XIa Y 75.47 225 5

17 M7




